HENEREREHES

DH4FE4H1H (&)

Mt

€:E3::) (BT : kg )
SRR ==Y H 2 5 1B Z B fm &
HE 238 B X 971.3 1,330 289
HSXH LA 78.8 289 29
RXAIH LA 148.4 740 150
JUH LA 371.4 700 20
LEHLA 102.2 201 23
FHELS LA 1,204.6 956 109
=FHLA 281.6 190 20
<AOLA 182.2 293 101
XA LA 73.0 350 39
HNSAHLA 816.5 88 20
55 1,320.5 168 24
2O0F 24.8 220 31
VAXTY 203.2 719 510
<7rd 66.0 2,051 1,091
TIAITAF A 33.6 320 123
F+77>39 2,080.3 246 35
HFHS 548.3 50 29
74 F XK 103.0 1,380 269
dEHAN 36.8 110 61
IAXPHHT 156.6 800 30
TEXAVHA 29.1 433 280
SROAD 478.4 695 389

e

9,310.6




(B : kg)

€:3=2)
RETENE gy M 2 = 1B Z fB fm &
TP 23% <5 40.9 840 239
T E4 ] 3,896.0 654 26
FAFF< 3 1,469.8 1,930 1,200
aitsE 14,717.3




€:E3::) (BT : kg )
SRR migE ® 2 5 1B Z B fm &

BERXNFE 1428|235 X 70.8 1,611 300
RAAIH LA 178.2 1,000 600

JUH LA 407.1 659 30

LZHLA 550.2 222 23

XAOLA 282.1 346 159

XA LA 373.5 400 20

HNSAHLA 633.6 40 20

F+77>39 21.3 200 50

HFHS 51.3 38 20

>0OX/)VUl 469.1 900 400

JdEHAN 22.1 61 36

6 |A>hDXSTA 419.4 1,400 1,100

] 28 >0OX/)VUlL 20.1 1,500 450
e 68 JUH LA 65.1 700 20
EXTYRS 25.9 311 100

ERVHA 66.8 340 250

DDEIE 54€ E~TOY 3,162.9 350 250

e

6,748.7




[;Efa] (BT ¢ kg )

pHE i miEH B = = 1B Z 1B " =
HE 23% ESX 23.8 1,500 700
<7+ 262.6 2,800 1,800
X453 148.8 800 500
EEXFE 1428 £S5 2,227.3 1,800 800
ASHLA 245.6 600 400
~IAHLA 752.7 1,000 200
TAF A 34.9 2,000 200
RZF 219.7 1,000 600
8o 4% ESX 116.2 2,000 500
e 6% <43 26.1 1,400 800
Sy & 91.5 800 500
aitiE 4,149.2




